>
A & 0l & AF 2 E A A
20209 &= =0l At LBt HEX
PN HEX D
Yy X2Y 7
Sl 2MEE s T CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
™ Xl Dt 20,905,640 20,740,447 165,193
< 197,065
[ia 20,708,575
AAx=zg 2 6,901,303 7,007,990 A 106,687
< 51,965
[ia 6,849,338
S M3 E &8 & 292,500 287,500 5,000
=H3IAH 25 292,500 287,500 5,000
202 044l 262,500 262,500 0
04 = H &t Bl 262,500 262,500 0
OFY - HHHL U ABY o2
150,000, 000& * 14 150,000
OFIIu=4d of 2 A= 6,250,000& x4H 25,000
O3&X 224 g 2,500,000 x35H 87,500
301 LEEAZ 30,000 25,000 5,000
06 212t01= 2| 04 Hl 30,000 25,000 5,000
OZ22% =24 g 2,500,000& x12H 30,000
SEE HFXH 929,891 694,762 235,129
< 3,000
= 926,891
CHUi 2l ALK& 55,384 55,384 0
201 et 39,704 39,704 0
01 At 22l 24,704 4,704 20,000
OUUE #AFZ SHI(SH)
8,000 x7H 72«12 4,704
OZ&X A&Zdst A3AE 20,000,000& =13l 20,000
03 A2 Z Hl 15,000 35,000 A20,000
OZANZ BJZFE M=U3 5,000,000 13 5,000
Oxesl MR ZLFe0s MsSUE
7,000,000 » 14! 7,000
O =LA =& 3,000,000 =14 3,000
202 O4dl 4,680 4,680 0
01 = LH 4 Hi 4,680 4,680 0
OFQAMN =X 2 22 (5Y)
130,000 3 x12& 4,680
203 ¥ S =&l 8,000 8,000 0
03 AIBZ=XH I =AH| 8,000 8,000 0
OAMH#Z=EHS =AY 8,000,000& 8,000
301 LEEAZ 3,000 3,000 0
09 HALAHIX A S 3,000 3,000 0




2N
X ZH -
L= B

el

A - -G (3A) - A - BES Off &F o4 %Ei Hns2
OUUe RN 20 5 24
500,000 2 x33] 3,000
2N 198,102 175,795 22,307
201 Lyt HH| 41,770 33,800 7,970
01 At 22l bl 18,600 19,800 A1,200
OR4HIHA 2l 15,000,0002! 15,000
ORHANHET SHH(BH)
8,0002 * 102 +52 x9F 3,600
02 2B 2| 23,170 14,000 9,170
OX= AZZ4+E sl 7,000,0008! *13] 7,000
ONZT ZHSMY 222 5,000,002 13l 5,000
OFB=0EXAASL 2,000,000 13l 2,000
OFA2E AIHBZAESIH 3,000,000 13 3,000
OSa= BHS=XsH 2,000,000 13 2,000
OSalz Cgoty 28t BSAPSSY 223
4,170,008 *13] 4,170
202 01t 14,000 0 14,000
01 2Uhottl 14,000 0 14,000
02y Y= 14,000,000 14,000
203 &2 =T bl 142,332 141,995 337
B EE S 56,742 54,815 1,927
OJlpeYe =Y 4,728,500 *128 56,742
02 FRIIAN YR FTY| 24,590 26, 180 A 1,590
OBRAIMYRETY| 24,590,0009! 24,590
03 Al =X @ET Y| 61,000 61,000 0
ONBZZ =T Y| 61,000
— M EEF 5 8,600,0002 8,600
—THLH NYEX 20,000,000 20,000
~FHEQYL AMHEZ 5,000,0002 5,000
— 22 29N5 FUAZ 2 S
5,800, 0002 5,800
—AZEQHA S =X 5,800, 0002 5,800
-~ Xty ¥ Y /ASAA  5,800,0008 5,800
UAYR 8 309,455 173,333 136, 122
201 et A H| 145,030 50,427 94,603
01 Ak 22l bl 82, 150 50,427 31,723
OELEE-JETE 14,0002 +1000H 1,400
OoUNSI#E =g 70,0002 *5% *153] 5,250
O&4FIN0IA DY (AZRES)  3,000,0008 3,000
OBFIA LY 200,0002! ¥52 *103] 10,000
Oslgal 2 BEa44 15,000, 00021 * 14! 15,000




SN BEXE D
Zu: GiTy P
[s]3 PSS I

& sy AFRNA CEE-ED
2 S 4
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
OMARZBRE S A 2,000,000 2,000
ONHOENMEHE =2 1,200,000 x12& 14,400
OB M= 100,000 =404 4,000
OSHsS 2t8t WH(#E=EXAEH)
2,850,000& 64 A 17,100
OZZXUAIZ2HAAE S E%
2,500,000 x4 = D| 10,000
02 B232%H| 62,880 0 62,880
QX DNE S22 (LEHR U AAIZZ2A)
1,048,000& x5 x12& 62,880
202 044 104,000 89,000 15,000
01 22Ul 4,000 4,000 0
OQIAI2HAESI S AR 4,000,000 4,000
04 =H 30 bl 100,000 85,000 15,000
OAMNSESAHL 5,000,000& »20H 100,000
301 et A =2 15,000 10,000 5,000
06 212t01 = 2| (4 HI 15,000 10,000 5,000
OAMNSESAHS 5,000,000& x3H 15,000
303 ZAZ2 16,000 6,000 10,000
01 Za32 16,000 6,000 10,000
OAMNZESAHL 2,000,000 x84 16,000
308 XX EHSO|IA 29,425 17,906 11,519
10 212 SUHUSHEAEAE AT Y| 29,425 7,906 21,519
OE=N YA B AIAE QX2 2H|
6,356,000 x14! 6,356
OXMIU EZXLOAAIEEAIAE AXAU =
ZERNLUCAIZEEAAE = 2 2(1X})
23,069,000 1Al 23,069
SAIAAE 2H 15,000 15,000 0
303 ZAZ2 15,000 15,000 0
01 ZAZ 15,000 15,000 0
O&I2E L REZZ2A AFSAIZE
15,000,000 » 1Al 15,000
Mol 24 XI& 72,960 72,960 0
307 2iz2tol A 72,960 72,960 0
07 AZ2X =2 72,960 72,960 0
OMNEZ= 5,220,000€ x0.65%x20H 67,860
OMalEx=20 5,100,000& x1H 5,100
H&ERE 22 85,000 48,000 37,000
101 124 4| 85,000 48,000 37,000
04 JI2ZtHIZ22NEES 85,000 48,000 37,000




2N #HEX A D
M UXZ2E P8
ool UEE BN (ol @)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
OJIZtHIZ22 X &§&22 3,500,000 x20H 70,000
OJIZ2ZtH22 X 4282 15,000,000& 15,000
=01 o] CH3H 8,840 8,840 0
201 et d| 8,840 8,840 0
01 AP 2t 2| H| 5,000 5,000 0
OZEHINE il & BHESE HMH
,000,000& x13] 2,000
OFUAHYANE L Z2UEBDN ROl
30,000& 252 x4 3| 3,000
03 HAI2 G H| 3,840 3,840 0
OF0IAIAE EHIb HE S|
8,000& *80Y *63/ 3,840
S X AIAI 22 3,000 3,000 0]
o= 3,000
201 et 9| 3,000 3,000 0
= 3,000
01 AR 2t2l ] 3,000 3,000 0]
O2020<= X AF Al 2 EE2 3,000,000& 3,000
& 3,000
= 01O LS A} 61,830 14,930 46,900
201 £Bt24 | 55,530 14,930 40,600
01 AF2 22| H| 15,530 14,930 600
O=0Io & AMAAKS =¢ 70,000& x14H 980
OZ2l9o & AMANES HE 30,000 505 1,500
Oz &= & I M
1,150,000 +x7 M ES 8,050
Ox=&%& M= 2,000 2, 5000H 5,000
03 Al A H| 40,000 0 40,000
OHMB8F=E RIoHZOIO Y JIE Al
40,000,000 =14l 40,000
301 et A= 6,300 0 6,300
09 HAIAHI X2 6,300 0 6,300
OAIZI X Ba=2 1,000,000& x2H 2,000
OL3BIEAA Bat2 300,000 x1H 300
OAldE ZBHE BMa3 2,000,000& x2&! 4,000
EEl= DN 2,000 6,800 A4 800
201 et Y| 2,000 5,200 A 3,200
03 A2 H| 2,000 5,200 A 3,200
O=ss dAIFA 1,000, 000& *x23| 2,000
MIXO A 112,960 115,720 A2,760
201 et d| 80,000 81,200 A 1,200




SN BEIE D
M Hx=2E 8
Sl AES I CERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 80,000 81,200 1,200
Oaxstielel &= 3,300,000& *1 59,400
OASHIE (XN, L2 )
5,000,000& 14 5,000
OL=2HESAM = 200,000 x»4H 128 9,600
OltsBsAM =E 100,000& x5 «12& 6,000
202 044l 1,560 3,120 A 1,560
01 2LHO! bl 1,560 3,120 A 1,560
04 2BRE +T(5Y)
130,000& »1H «12& 1,560
303 Z& 3 500 500 0
01 243 500 500 0
Oas=edlt Lats X2 50,000& x10H 500
305 &= S 30,900 30,900 0
01 e =8 30,900 30,900 0
OASHE(HAZAS) 30,000,000& 30,000
OAsE8 4243 300,000 =32 900
MBIZZMHA SEXNIEH 29 4,000 4,000 0
201 L2l 4,000 4,000 0
01 At 22l 4,000 4,000 0
Ol 119(MEZSMNEIA SEXNIME)EE
=3 2,000& *1,0000H 23| 4,000
SNt 22 e 29 1,360 1,000 360
201 L4l 1,360 1,000 360
01 At 22l 1,360 1,000 360
OXNgNadRARSE 2SS 70,000& 10 700
OEMIEs2 28 60,000& =114 660
A= M=ER 5 1,936,838 1,819,891 116,947
A== X 158,614 157,986 628
101 @124l 63,760 74,132 A 10,372
04 JIZHHZ22XNHSE+ 63,760 74,132 A 10,372
OSOFA(BLFI) UM d2Y 63,760
—Jl=s 68,7203 x3& x200! 41,232
— n Sl 2,0003 x3H 200 1,200
— =24lH| 4,0003 x3H 200! 2,400
—F54 68,7203 x3H x40 8,247
—x==g 74,7203 x3H 82 1,794
— ZE S0t 300,000& x3H +23| 1,800
— 428 = 56,691,000& *12.5/100 7,087
201 2ot 2 Y| 53,854 43,854 10,000




2N

M XA =il
ol NASY=X 5 CER-ED
SA - BB B (BA) - MEAY - BYS ofl &k o San HDE2
01 At 22l bl 44 854 43,854 1,000
OFHIAAEZE I=H| 290,000& *354H 10,150
OXNAD L EH X 15,0008 2,000 30,000
ONESM=T A2ZF S (BH)
8,000 x7H x7L x12& 4,704
02 3524l 9,000 0 9,000
O2&1X #Haugd 9,000,000 x 1Al 9,000
202 044 20,000 20,000 0
01 2L Yl 20,000 20,000 0
O=EME A 200,000& x100H 20,000
303 ZA& 2 21,000 20,000 1,000
01 ZA 2 21,000 20,000 1,000
OFIABE HXX AS 3,000,000& x4l 3,000
OXEFDZ2YE =X
500,000 * 181 2 & *23] 18,000
HEN SXHE 29 1,310,050 1,188,000 122,050
201 Yer2 | 1,310,050 1,188,000 122,050
04 A= S K H T Al'SH A b 1,310,050 1,188,000 122,050
O SXHE 29 1,330,000 «985H 1,310,050
A Ar2t 2| 314,053 316,602 N 2,549
101 2121 4| 138,563 96,322 42,241
04 JIZtHIZ22XNSE S 138,563 96,322 42,241
OFAMNEAN 282 27,578
-Jl= 71,0503 1 »251L 17,834
— st 2,000& x1H *x251 502
— 24| 4,000@ x1H 251 1,004
—F54 71,050& * 1Y x52 3,695
— 54224 106,575& » 1Y x1L 107
PN 77,050 12«10 771
— 9 ZESJH| 300,000& x1H x23| 600
—AEE = 24,513,000 x12.5/100 3,065
OFUAY FAA Q1A 28,233
—-Jl2= 73,4503 1 %203 14,911
- =54 73,450& 1«52 3,820
— AX =G 79,4503 x1H x10Y 795
— st 2,000& x 1 x203 406
— 24| 4,000 x 1 %203 812
— &S| 300,000 x 1 x23| 600
—4EE = 24,918,000€ x12.5/100 3,115
— ANZ2HAZL2EE 14,8903 x1H #20A| 2F* 128 3,574
— GAA FM= 100,000& 28 1 200




372 I
Axzd 28
NAsM=T S EREED)
S - FE BRI (B) - NRAY - BES il HlnE2
OFUAY Xl Q2AH| 82,752
—-Jlas 71,0503 *3H 203 43,270
-5 71,0503 x3Y x52 11,084
— XY 77,0503 x3H 10 2,312
— WSl 2,000 x3H x203 1,218
— =2l 4,0003 x3H 203! 2,436
— ZE S| 300,000 x3H x23| 1,800
—4EE= 24,173,000& »3%H *12.5/100 9,065
—AZ2HAZR2Y 14,4402 x3F +20A| 2+ x 123 10,397
— Xl fIM=s 100,000 38 3 900
— Xeld otEE st 90,0003 »3& 270
201 £B-2dH| 172,490 173,630 A 1,140
01 At 22l 153,490 150,530 2,960
O&EAMNSS22 35,150
— HAASHI (55 AN EIAR)
350,000& x53| 1,750
— A2 A2E FY 2,500,000& x12& 30,000
— g3y FFANE 150,000& *123] 1,800
— gy F1 2 166,660 *3Al E 500
—HEAFSAHY E272Y 166,660 *3Ml E 500
— 9N F2I dUHE XS 50,0003 12 600
Oaes FJ| FY(SH HEE)
10,000& *50H 13 500
OaE I FY(SH HEE)
10,000& *50H 13 500
O (BH) 93,300
-2 60,0003 x4H 115 27,600
- =X 60,0003 *3H 3652 65,700
OFUAY ABE 2¢ 5,000,000& » 14! 5,000
OFAEA (2,484, 2 S)
14,000, 0002 14! 14,000
OFUAE EENAS 120,000 124 & 1,440
OFAEetEHl ==& 300,000& »12& 3,600
23224l 19,000 23,100 24,100
OFUAE 2324l 750,000& %123l 9,000
O=WU2RAAE SXE= 2,000,000 42 DI 8,000
O&At2el CCTV S XI2=Hl  2,000,000& 14l 2,000
405 THobF S| 3,000 46,650 A 43,650
01 XML =S ZFH St 3,000 46,650 A 43,650
o=l A2 DA (XISAD)
1,500, 000& 24 3,000
tsxg NH 64,000 74,400 A 10,400




SN BENAD
__rl

MM X2 =il
o9 NASY=R S (B9 ®R)
S EB B (EH) - MBAY - BAS o AF o San H D2
201 Bt A | 14,000 24,400 A 10,400
01 At 22/ 4,000 14,400 10,400
OLNEL2A ANE4E 1,000,000& 42 0| 4,000
03 S AIS H H| 10,000 10,000 0
O32& LT Atstg stots U3
10,000, 000& =14l 10,000
202 04| 45,000 45,000 0
04 = X3 bl 45,000 45,000 0
OS2& S AFZH a2 1,500,000&*30Y 45,000
303 ZA& 3 5,000 5,000 0
01 ZA& 2 5,000 5,000 0
ORI LA S&&X Ast 250,000& *20H 5,000
SR8 s N 23,800 15,000 8,800
201 Bt A | 9,000 5,000 4,000
03 S AtS H b 9,000 5,000 4,000
OZ222x HsU3 9,000,000& *13] 9,000
303 ZAZ 14,000 10,000 4,000
01 ZAZ 14,000 10,000 4,000
OS2 X Hd&X AsS 4,500,000& 23] 9,000
OZ22A LA 35 250,000& *20H 5,000
405 XH&HF SHI 800 0 800
01 AL =S EF SHI 800 0 800
OSRALX AIR4A TV ¢ 800, 0003 = 1CH 800
E=22e 66,321 67,903 N 1,582
201 LEt2 A Y| 5,380 13,380 A 8,000
01 AR 22| bl 5,380 13,380 A 8,000
OJl=2 oty HHLg
70,000& x2H %23 280
OJNEH A5 2,000,000& x13] 2,000
OJIga 28 #¢ 200,000& *53] 1,000
OF3E3MAas &Y 70,0008 *x2H *153] 2,100
202 (4] 4,680 4,680 0
01 2L Y] 4,680 4,680 0
OJIZE2 H2l ¢ XN S(8Y%)
130,000& x3YH x12& 4,680
308 AHXI S M SO0l & 56,261 49,843 6,418
10 S 2SO USHE A A E A 56,261 49,843 6,418
OEZFIISAANAE S& A2
56,261,000 *14] 56,261
DEYX AMINA 7,864 8,816 N 952




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
= UHZ AHIHA 5,864 6,816 N 952
201 £B-2d| 4,304 5,256 A 952
01 At 22l 4,304 5,256 A 952
OFHMMEARAS 312 =& 70,000 +7H *43] 1,960
ORMES Y2EX SYHI(FY)
8,000& x2H 7L 128 1,344
OFHNIME AR2Y 500,000& »23] 1,000
202 04l 1,560 1,560 0
01 = LH o4 1l 1,560 1,560 0
ORMINE LRFZ(ZSH)
130,000& 1H 128 1,560
AHOMZ e = 2,000 2,000 0
201 2yt 2 Y| 1,000 1,000 0
03 &Ar2 I 1,000 1,000 0
OFMME 8& 2tE3l
125,000 »23| =4I CH Xl 1,000
303 Z& 3 1,000 1,000 0
01 243 1,000 1,000 0
O=2 7 HIMH& S ==H et 1,000
—=24 300,000 x 18 x13] 300
-2 200,000 x 18 +13] 200
-S4 100,000 »1H x 13| 100
— g 50,0003 x8H 13| 400
MAEESA B 2,025,676 2,237,199 A11,523
< 23,785
[ia 2,201,891
sHESR =2 59,868 59,117 751
< 16,964
[ia 42,904
101 1A dl 9,638 9,728 A 90
< 1,537
s 8,101
04 JI2ZtHZ22 s+ 9,638 9,728 A 90
OAMSH=AL JI2HHZ2 2 Xt 6,266
— S22 L ZALZEX oY
71,3402 x2H 2820 «80/ 100 3,197
— ey a2y
68,720 1 x192 «80/ 100 1,045
— AR 2Tt erEY
68,7202 * 1 2824 «80/ 100 1,540
—S8= 5,779,910& *8.37/100 484
02020 & = Ab3| = At 3,372
— ZAL22I A eI Y 71,3403 x2H 21 2,997




SN HIXAD
M Hx=2E 8
& dAFESA 2L )
= _ — d =
SA - BB B () - MM - BES Ol &t o e
< 1,537
s 1,460
— ZA22It BER 2,997,000& x12.5% 375
201 Let2d] 50,230 49,389 841
< 15,427
i 34,803
01 At 22l 49,830 49,389 441
OsHAS L2t 40,000& 1502 6,000
OMYH=ALR Z=SHI
68,7202 *6H x26 2«80/ 100 8,577
02020 ®=SASI A &5 AR Q124H| 23,091
— ZAMA 68,7203 x18H x16 19,792
< 9,896
s 9,896
— AR 68,720R x4H x 12 3,299
< 1,650
i 1,649
02020 &= Atz AL EHE 2
6,000& *8104 4,860
< 2,430
[ia 2,430
02020 &= A=A SHES P&
4,000 x 184 72
< 36
[ia 36
02020 &= A2 ZAH ZALE =2
1,000& x2,430% 2,430
< 1,215
[ia 1,215
02020 B=AMI A EEE EddHE
50,000& *8H 400
< 200
[ia 200
02020 &S At2I A EOA 22t
40,0003 100 4,000
02020 &= ASI AL ZAIES P
20,000& 20 400
02 2324l 400 0 400
OSHHE & ML ¢35 4,000& %1002 400
HE™ES 2 1,217,447 814,926 402,521
201 Let249] 297,227 248,086 49,141
01 At 22/l 103,361 92,101 11,260
OR2UectE 2ZEQN P (HAASH) 48,180
—SALIA 2020 & 2ALA 75,0003 2004 15,000
—MS Il A& GAS 221,200 x 1504 33,180
OHEAZEYN P (HAAESH) 25,441




SN HEXED

M UXZ2E P8
ol MAFESAL CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
—PCE WAl AOHO0IE 2ol A
27,5002 *800H 22,000
—NHE %A FOH40E 2toldA
430, 1002 *8H 3,441
OdefE ATEQNH 2 10,500
— CHZX A 2 (Autocad) H2HAIE A
550,000 =15 8,250
— AR B & 2 (Photoshop) A 2HALE &
550,000 34 1,650
— CI X!l 2 (ILLUSTRATOR) & 2tAI = &
600,000 =14 600
OPCAIZ BHotE=2 M Rol(sidoitiblg)
20,000 *500H 10,000
OLH PC OIRA & I8 ¢
20,000 200K 4,000
OHFIBH2SY ALEX IT(ZY)
8,000 x5 H 72 x12& 3,360
O&FLD| X2 35,0008 x12& 420
OMeldEES & HEBB0 2A+E
400,000 *23| 800
OMeIEEES 828 840
60,000& *x11H S A 660
02 24| 193,866 155,985 37,881
OYSHEAAE MAZEH KX 244
216,000& x12& 2,592
OMARE & HFZ2HUHZAIAAEY S E 44|
308,000 x12& 3,696
OBEQotHE &AEH | X244
1,625,000 x12& 19,500
oc2uet &€ JISs2 UA3NHA0l SXE 4
1,670,000& x12& 20,040
Oo2uUet & JSa HAAAE QX244
405,000& =12& 4,860
OHFZSEHE HERKAD FALE4H|
1,400,000& x12& 16,800
OCHUWAIS I 22AAYE SAE 4|
239,200& x12& 2,871
OgEEH SAEx 1,650,000& ~12& 19,800
Odgsy RANE 44| 293,000& x12& 3,516
Oea JIasIAH S X244
1,026,000& x12& 12,312
OUWPS(RPEAMFMAZX) KX E4H|
266,666& x12& 3,200
OBZIJIY0HM 2A2AlAE X2 2H
386,500& x12& 4,638

290,000& 12 3,480




SN BEIE D
M UXZ2E P8
ool MAFBEAE (S5 &)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
O ABEZIIES2CAIAE KA E2H|
559,700& x12& 6,717
OUHERKD Es2elAIAE(NAC) S X EZH|
580,000 x12& 6,960
OESHEEZEAAE S E2H|
1,490,000 x12& 17,880
OfetEs: ASEX3EAAEY SX 24|
135,000 x12& 1,620
O2Ltet A H/NE) SRE
890,000 x12& 10,680
O&dES0IE2 EHOIXN SXEX
2,000,000 *2JH 2 4,000
ONMSHFIZE EE§270 AlAE X844
130,000& »12& 1,560
Okflotz2 S8 BtE&d EHO0IX A E2=H|
2,262,000& x12& 27,144
202 04| 7,800 7,800 0
01 2L HI 7,800 7,800 0
OPCEZE LU HEYZ &Y HH(ZENH)
130, 000& 2 x12& 3,120
OJMQIAEE LU HNBZ0ot Algf HA(SNH)
130,000& *3H »12& 4,680
308 AHXIEHSOIA 110,040 101,540 8,500
10 B 2SUHUSHEAEAE AT Y| 110,040 101,540 8,500
OANZF Z2SIIE HAEH X E 44|
6,950,000 x12& 83,400
OANZF THHlER2HMH S AY SX 224
520,000& x12& 6,240
OXNLHEESHEAAE HEHAQAT 24
S Xl 22l bl 7,000,000 *13] 7,000
O2LI2tAIAE AHdHIAOAZR XS L AS
SW S X2 2=H| 13,400,000& *13] 13,400
401 Al HI L 204 HI 8,000 0 8,000
01 Al&H| 8,000 0 8,000
OZAHOIE WH Z2AHEHAH, 235])
8,000,000 =14l 8,000
405 KHoHFE S HI 794,380 457,500 336,880
01 XA E B F S| 794,380 457,500 336,880
OZEH FU(UAAE) 298,080
— 2 1,200,000 =207 CH 248,400
—2LUH 240,000 x207CH 49,680
ONMMINEE &HH F¢ 7,300
— A3 1,000, 000& = 14! 1,000
— HEE A 200,000 = 15CH 3,000
—2HEH oI 150,000& =22CH 3,300




PN HEX D
M Hx=2E 8
ool MAFBEAE CER-ED
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
ORAMHEIEI(PS)EEX wM(HMFAS)
550, 000& »40EA 22,000
OAHUAIE T Z2IAIAE DH(HHMFAS)
27,000,000& =14 27,000
OE= Zot&Ed 7¢ 300,000
—UHRY et 2 50,000,000& =64 300,000
O2UctAIAE SEAECX &
2,500,000& =10EA 25,000
QUESRD HEALAX WM (UHFS)
76,000,000& » 14! 76,000
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